Education money

It is clear from the reports of discussions within government and within the
Conservative Parliamentary party that many think more money should be given
to schools that have low funding levels today. There is general agreement to
the idea of the pending reform, that a larger share of the money should go as
a per pupil sum for each student at the school to reflect the basic costs of
provision where ever it may be in the country and whatever the social
background. There is also agreement among many that the better funded schools
should not have cash taken away from them when the more lowly funded schools
get more.

The Treasury clearly hoped that the new formula would take money from the
generously funded and give to the poorly funded without major increases in
total funding. It is never easy getting through these redistributional
reforms, as the losers always speak more volubly than the winners. It looks
as if on this occasion there will need to be some pump priming money as the
formula is altered, to prevent big losers. It will also be needed to give
sufficient to the winners for them to think they have made a reasonable gain.

Labour asked a Question in the House about this yesterday. The junior
Minister, Mr Gibb, replied. He was unable to reveal more of the detail, as
the government is still finalising its position on its response to the
consultation concerning the new formula. I had a conversation with him
afterwards to remind him of the position of Wokingham and West Berkshire.

Wokingham and West Berkshire schools remain at the low end of the table for
per pupil money. It does not cost us less in Wokingham to educate a child
than it does in the big cities.Teachers pay is based on national rates,
whilst property costs are quite high. These matters need to be reflected in a
common per pupil sum throughout the country which is a sufficiently high
proportion of the total money awarded.

Meanwhile this week in the Commons Ministers have returned to explaining that
there do have to be sensible controls on the total level of public spending,
given the continuing deficit. More work is being done on spending priorities,
and on raising the general level of efficiency and quality in public service.
The answer to the need for better public services lies partly in economic
growth generating more revenue, and partly in better management. Working
smarter can be a win for taxpayers, keeping down cost, for service users,
bringing up quality, and for employees, with better paid and more rewarding
jobs. I raised these issues with the Chief Secretary to the Treasury when she
answered a question about public sector pay yesterday.
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How do we raise more tax revenue?

Some of you will be pleased and others unhappy to learn that today’s question
is one of the most common in the modern media and even amongst some MPs.

There are two easy answers. The best way to get more tax revenue is to grow
the economy.

The best way to get more money from companies and the rich is to lower the
rates of tax they pay.

As I have often argued, cutting the Corporation Tax rate from 28% in 2010 to
19% today has taken place against a background of a substantial increase in
company tax revenue. We collected 55% more last year at 19% than they did at
28% in 2009-10. Some say this is the Laffer effect — lower rates lead to more
tax. Some say it is a coincidence. No-one can say cutting the rates has led
to a decline in tax revenue in the way Treasury models and others suggest.

Cutting the top rate of Income tax from 50% to 45% has also led to an
increase in revenue from the higher paid. In the early 2010s we collected
£2bn less in self assessed income tax with a top rate of 50% than the
government collected at 40% before. Revenue rose by 15% with a cut in the
rate to 45%. When in the 1980s the then Conservative government cut the rate
from 83% to 40% in two steps, there was a surge in extra money from the
better off. They paid more in cash terms, they paid more in real terms, and
they paid a bigger proportion of the Income Tax total.

The reason all this works? Entrepreneurs, rich savers and companies are
footloose. They only need come, or only need stay, if tax rates are
competitive. They need only invest and spend in places where the rates make
sense to them. When the UK had 83% tax there was a Brain drain. Many talented
people from pop stars to businessmen went abroad to avoid the tax rates.

Capital Gains tax collected 23% less than forecast when the rate was hiked to
28% from 18%. There was a loss of revenue in 2012-13 and 2013-14 with the
higher rate, contrary to Treasury model predictions.

So to raise more revenue we need to change the Treasury model to make it more
accurate, by accepting that some taxes are at rates above their revenue
maximising levels.

The Treasury have a very poor forecasting record on revenues. Remember they
had to hike their forecast for 2016-17 tax receipts by £10.5bn between the
November forecast and the March forecast in the year in question!
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South West trains

Network Rail wrote to me with some good news this week. They reminded me that
by 2018 they will increase peak capacity into Waterloo by 30%, meaning more
seats for rail travellers.

The letter however, was more about the bad news of getting this expansion in
place. This August they will close platforms 1-10 at Waterloo to extend and
straighten platforms to accommodate longer trains and more passengers.

Commuters and other passengers are warned that this August will see reduced
services. The network will be more prone to delays and difficulties if things
go wrong. They tell us “there is never an ideal time to undertake such
significant work.We have chosen this period to do the work as August is much
quitter for the rail network..”

Nurses pay, and pay for those on the
Minimum Wage.

There has been discussion of how much nurses get paid and whether they can
get more than a 1% increase during the pay cap. I thought it would be a good
idea to report the scales published on the web and invite comment on what
would be the right answer on their future pay.

According to the official sites a nurse currently starts on £22,128 a year.
This rises to £28,746 a year over a seven year period, with increments of 4%
in all but the first year when it is a 2.5% increase. In inner London the
sums are £26,553 rising to £34,495. In outer London the nurse receives 15%
more than the national scale. The nurse would also receive whatever general
pay award there was on top of the annual increment. The site says " Staff
will normally progress to the next paypoint annually until they reach the top
of the pay band.”

If a nurse becomes a senior nurse or a specialist nurse the pay scale then
rises further, up to £35,577, or £42,692 in London.

The 1% overall cap does not mean that a public sector employee only gets 1%.
These annual increments are available in some jobs other than nursing as
well. An individual may well get promoted and receive better pay for more
responsibility, or undertake further training and get higher pay for more
skills.

There are two issues to discuss. Are the starting levels too low, and are the
annual increments correct?
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The government has sought to tackle low pay at the bottom end of the payscale
by increasing the Minimum/Living wage for those in the unskilled jobs. The
pay for someone on the minimum in 2010 has risen by £3200 a year (full time
on the minimum) , taking the hourly rate from £5.93 to £7.50, an increase of
26% over that period. Further increases are planned as it is still low. These
increases were of course exempt from the pay cap.

Mr Redwood’s intervention during the
Adjournment debate on School Funding
Formula (London), 28 June 2017

John Redwood (Wokingham) (Con): The right hon. Gentleman is making a very
good point. Certainly in Wokingham, which has very low per-pupil amounts and
good-performing schools, we feel there is a problem. Was not the idea of the
reform to have a higher absolute amount for every pupil in the country,
because there is a basic cost wherever you are being educated?

Sir Vince Cable (Twickenham) (Lib Dem): Yes, indeed. The right hon. Gentleman
makes the important point that it is not a question of just having a basic
amount of funding, but we need an evidence base for what the cost of running
a school actually is. I worry that as the formula is currently devised, there
is no evidence base. Wild guesses have been made about the differential costs
of secondary and primary schooling, and we need objective studies of what it
costs to run a school, so that the formula can work well.


http://www.government-world.com/mr-redwoods-intervention-during-the-adjournment-debate-on-school-funding-formula-london-28-june-2017/
http://www.government-world.com/mr-redwoods-intervention-during-the-adjournment-debate-on-school-funding-formula-london-28-june-2017/
http://www.government-world.com/mr-redwoods-intervention-during-the-adjournment-debate-on-school-funding-formula-london-28-june-2017/

